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English

Today's story is "the Cowherd and the Girl Weaver." There was once a sincere boy
named Cowherd, and he had a cow with whom he had a good relationship. One day, the
Cowherd went out to herd cattle, and the cow told him that when he walked into the woods,
he would see a beautiful girl who would marry him. He went over and saw seven girls, and
they were fairies. He fell in love with the youngest fairies, and the girl fell in love with him.
But because the girl is a fairy, she has to go back to where she belongs. His parents were
also very against their being together because one was a fairy and the other was a mortal.
They were separated from each other. Later, the girl became pregnant. After giving birth
to the child, the fairy was very sad, and told her mother that she wanted to see his husband.



Finally, her mother compromised and allowed them to meet once a year, which is the
Chinese Valentine's Day we are now celebrating.



